
A cosmetics company packed 24,160 tubes of foot cream into 8 boxes. If the

boxes contain an equal number of tubes, how many tubes does each box hold?

2)

A dressmaker uses 7 packs of sequins to embellish one dress. How many such

dresses can be embellished with 1,442 packs of sequins?

4)

Monique’s Diner purchased 2,064 loaves of white bread across 4 weeks. If the

diner bought the same number of loaves each week, how many loaves were

bought per week?

1)

On a tulip farm, there are 20,898 red tulips in bloom. If there are 9 rows with

equal numbers of red tulips, how many tulips does each row have?

5)
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Morgan makes    354,120 in half a year. Given that he earns the same amount

every month, how much money does he make in one month?

3) S

Division | 4, 5, or 6 Digits by 1 Digit
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